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farfu 5/5313° =3+j4 Mo

3, HINALINUAZ ALY IUIUTIToUAD 111
3.1) (5-j3)—(3-jl0)  32) (5-j5)—(7.07/135°)  3.3) (4—j6)+(2+]j4)
3.4) (25/45°)—(5-i8)

3.1) (5-i3)—=(3—jl0) = 5-3—j3+jl10
wld  5-i3)-(G-jl0) = 2+i7 AoU
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3.2) (5-j5)—(7.07/135°)
wlas 7.07/135° Iilugiunugunin

x = rcosd = 7.07cos(135°) = 7.07(-0.707) = -5
y = rsin@ = 7.07sin(135°) = 7.07(0.707) = 5
wld 7.07/135°= —5+j5
S (5-j5)—(=5+j5) =10—j10 e foU

33) 4-j6)+(2+j4)
(4—j6)+(2+j4) = 4+2—j6+ 4
=6-J2 Ao
3.4) (25/45°)—(5-i8)
wlas (25 /45°) ilugdunuunin

X = rcosf = 25cos(45°) = 25(0.707) = 17.67

y = rsin@ = 25sin(45°) = 25(0.707) = 17.67
wld  25/45° = 17.67+17.67

9
[ Y

WU (17.67+j17.67)—=(5-j8) = 12.67+725.67 oo AoU

4.99¥191 Z° way ZZ'
41)Z =3-j5 42)Z =10/60° 43) Z = 6+j8 4.4) Z = 30/—50°
41)Z =3-j5 . L = (3+j5)

27" = 3-j5)(3+j5) = 9+jl5-jl5-j*25

= 9—(=1)(25)
=9425 =34 Mo
42) 7. = 10/60° .. Z" =10/=60°
27" = (10/60°)(10/=60°) = 100 /60°—60° = 100/0° = 100 .......cc....... Mo
43) Z =6+j8 .. Z = 6-i8

27" = (6+i8)(6—j8) = 36— j48+j48— i 64

MUY ZZ" =36-(=1)64 = 36+64 =100 e, fnow
44) Z =30/-50° .. Z' =30/50°
27" = (30/50°)(30/=50°) = 900/50°—50° = 900/0° = 900 .............c...... fnow
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5. muﬁﬂﬁ%mi@muazmiaﬁ’mam%a«ff@u@i@"lﬂfj
5.1) (70/=135°) , (35/90°)  5.2) (5+j10), (3—j4)
54) (12/50°) , (6/120°)
5.1) (70/—135°) , (35/90°)

53) jl0, (6+i8)

(70 [=135°)(35 /90°) = (70x35)( [=135°+90°) = 2,450 [=45°  ..ccoorirrrnnn.n. fnow
(70/=135°) (70}
A== _ | = |(/=135°=90°) = 2 /=225° .. fnou
(35/90°) 35 ( )
52) (5+j10), (3-j4)
(5+j10)(3-j4) = 15+j30—j20—j* 40
= 15+ j10—(~1)(40)
=55+310 fnay
(5+j10) (5+j10)x(3+j4) _ 15+j30+j20+ 40
(3-j4) B-j4) (B+jb 3%+ 47
_ 15+j50+(=1)(40)  —25+j50
25 25
= —1+j2 ..................... 2R}
53) jl0, (6+]8)
(0+j10)(6+j8) = j60+i*80
= j60+(-1)80
(0+jl0)(6+j8) = —80+j60 i fnow
(0+j10) _ (0+j10) (6-j8) _ j60— >80
(6+i8) (6+38) (6-j8) 6% +82
(0+j10) _ j60—j*80
(6+38) 36+64
I L T Ao
100
5.4) (12/50°) , (6/120°)
(12/50°)(6/120°) = (12x6)(/50°+120°) = 72 /170°  .ioooreerireaennns, fnow
[9R) 1)

(2/50°) _ (12) /00 190°) = 2 /- 70°
(6/120°) (6J(M)_ 2/=70°



